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7.9. In horses, some of the genes for hair color are incompletely dominant. Genotypes are as follows: brown horses
are BB, white horses are bb and a Bb genotype creates a yellow-tannish colored horse with a white mane and tail,
which is called “palomino”. Show the genetic crosses between the following horses and record the genotypic and

phenotypic percentages: .
a. brown x white b. brown x palomino ¢. palomino x palomino
Genotypic Genotypic Genotypic
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Phenotypic Phenotypic Phenotypic
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10. Can palominos be considered a purebred line of horses? Why or why not?

11. Which two colors of horse would you want to breed if you wanted to produce the maximum numbers of palominc
in the shortest amount of time?

12. In Smileys, eye shape can be starred (SS), circular (CC), or a circle with a star (CS). Write the
genotypes for the pictured phenotypes

13. Show the cross between a star-eyed and a circle eyed.
What are the phenotypes of the offspring?
What are the genotypes?

14. Show the cross between a circle-star eyed, and a circle eyed.
How many of the offspring are circle-eyed?
How many of the offspring are circle-star eyed?

15. Show the cross between two circle-star eyed.
How many of the offspring are circle-eyed?

How many of the offspring are circle-star eyed?
How many are star eyed?




